ITH = R
BT

& ox B =R

[(B3A] (B : M)
20234 3H31H HE

(B E]
(Bie - FHE)
B &

AV AT ERAT M T TH
woObrH ALY
B4 - A G
(52 L&)
* I 4
5e LAEME Bt
TRENE FEEA R
BHEART

2

AT AT E BIRETEN
A7
}\

(B afE]
E N
e AR
[ e F ]
RHIE A
I & AR ARt
AEAT

AT A48 B I DR S 7

=4 0 T IR PEHE AR
BRI PEG T
AUE K OUEBRIY EEA 7

CEPEDFL)

46, 039
169, 663
402, 094

96, 048

713, 844

40, 000

40, 000

(BEDE)

57, 360

753, 844

50, 000

CIEBRSY PE D EL)

753, 844

57, 360

50, 000

107, 360

1,073,943

A 427, 459

646, 484

753, 844




